=y '{‘ ;-

INSIALLAINUN OHEEL - -~ °
. - ' ° .._". .-‘ by " I k ;

KIT INCLUDES

4-1/2x 2 Boit 4 -1/4 x 3/4 Bolt
6-1/2 Nut 4 - 1/4 Nut

6 - 1/2 Lock Washer 4 - 1/4 Lock Washer
12 - 1/2 Flat Washer 8 - 1/4 Flat Washer

1 - Plug Bracket

Step 1 - Remove factory rear bumper and remove trailer plug.

Step 2 - Put new rear bumper in place and bolt on.

Step 3 - Check alignment on the rear bumper and tighten bolts.

Step 4 - Put trailer plug bracket on the bottom side of the wing as shown.

(Note: You may need to periodically retighten bolts. You may also lose
your receiver hitch)

@ Trailer Plug Bracket

[

N



